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1. J'I'I 5'1' E'“ OI % = dept_name_1

# A tibble: 16 x 3
# Groups: dept [4]
b3-ch2-5-rev.R dept class mean_total
<chr> <dbl> b=
library(openx|sx) HE 56
i 4E 55.
library(dplyr) o e

(
(

library(ggplot2) 24 57.
(

2z

library(gridExtra) ,—ggl gz
44 51.
44 Bl
63.
60.
38.
59.
53.
47.
51.
51.

df<-read.xIsx("http://kanggc.iptime.org/book/data/subtotal-e.xIsx")
df
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dept_name_1 <- df %>%
group_by(dept, class) %>%
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summarise(mean_total = mean(total))
= dept_name_2
dept_name_t # A tibble: 16 x 3
# Groups: dept [4]
dept class sd_total
dept_name_2 <- df %>% <chr> <dbl> <dbl>
21.
18.
23,
17.
13.
15.
9,
15.
11.
14,
21.
14.
1a.
7
11.
3.

group_by(dept, class) %>%
summarise(sd_total = sd(total))

dept_name_2

plot1<—ggplot(data=dept_name_1, aes(x=dept, y=mean_total, fill=class

)) + geom_col(position="dodge?2")

plot2<-ggplot(data=dept_name_2, aes(x=dept, y=sd_total, fill=class))

5

+ geom_col(position="dodge?")

marrangeGrob(grobs=list(plot1, plot2), nrow=2, ncol=1)
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b3-ch2-5-rev.R

library(openxIsx)
library(dplyr)
library(ggplot2)

library(gridExtra)

df<-read.xIsx("http://kanggc.iptime.org/book/data/subtotal—e.xlIsx")
Df

dept_name_1 <- df %>%
group_by(dept, class) %>%
summarise(mean_total = mean(total))
dept_name_1

dept_name_2 <- df %>%
group_by(dept, class) %>%
summarise(sd_total = sd(total))

dept_name_2

plot1<—-ggplot(data=dept_name_1, aes(x=dept, y=mean_total, fill=class

)) + geom_col(position="dodge?2")

plot2<-ggplot(data=dept_name_2, aes(x=dept, y=sd_total, fill=class))
+ geom_col(position="dodge?2")

marrangeGrob(grobs=list(plot1, plot2), nrow=2, ncol=1)

mean_total
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